Y=c+l= C(1+in)=12600(1+0.05j/360)
J=16+31+31+28+31+24=161/360
Y=12600(1.02236)=12881.75 da
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Y1=c1(1+i1n1)=40000*(1+0.06* 10/12)=42000da

Y2=c2(1+i2n2)
C2= y2/1+i2n2
11=y1-c1=42000-40000=2000
Y2=18(2000)=36000

C2= 36000/1+0.05*4=30000

Y1=cl(1+ilnl)

N1=(yl-cl/cl)/i1

Y1=1050%*7=7350

Y2=1050*8.66= 9093
Y3=1050%4.34=4557
C=4200%9/2=18900
C1=1/3*c=1/3*18900=6300
N1=(7350-6300/6300)/0.02=8.33 ans

Y2=c2(1+i2n2)

12= (y2/c2-1)/n2

C2=4/9*18900-8400
12=(9093/8400-1)/3=0.025*100=2.75%

Y3-c3(1+i3n3)

13=(y3/c3-1)/n3=(4557/4200~1)/2=0.0425* 100=4.25%
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Y1=cl(1+ilnl)

Y2=y1(1+i2n2), y1=y2/1+i2n2
Y1=2420/(1+0.06*(20/12))=2200
C1=2200/1+0.05*2=2000

Y=c(1+in)=2c

(st I} &)
1+in=2, n=1/i=1/0.05=20 ans
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